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1. Who first described mass media as a culture industry?

Sl AIYIA B WEH Ul fhEA WEPIA ZGNT b FW A
areaiAd fear

(A) Stuart Hall (37) T3 T
(B) Theodor Adorno (@) 3R 3=Et
(C) Stuart Mill (@) T3¢ e

(D) Jean Stephen (€) S EE&rpa

2. ‘Maratha’ was the sister publication of

‘TRrer foradT aEael garee a1 ?

(A) Lok satta (37) cirepEar
(B) Kesari () HEA
(C) sakal (") gl

(D) Maharashtra times (¢) HASRIY CIS&HH

3. The British Broadcasting Corporation’s main revenue source for a
long time was

fafeer sTEwfEcs FRURSE & T & @ Aid dd qA
(A) Government subsidy (37) TIPRT Ffedsr

(B) License fee () d3EE I
(C) Public donations (H) ST eI
(D) Sale of bonds @) angm fr fahr
4, is considered as a mechanical medium.
................ Bl Teh Hbfdhel ATCIH TBR fohar = &
(A) Book (37) fepara
(B) Newspaper (@) §A™R T3
(C) Television (@) Tolifaea
(D) Puppetry @) U



5. The deontological theory of Immanuel Kant prescribed categorical
imperatives based on

SHA3TS Do &I fSiereriornel g foper & F T e ¢l
(A) Public Opinion (37) STAdT &r grRomT

(B) Moral law (@) =fdeh P

(C) Political behaviour (@) TSiAlfde cFaer

(D) Personal convenience (T) fhaTd ﬁﬁf?ﬂ

6. The main purpose of asymmetric two-way public relation model
is

SIdIdI TR ABA ol T qATeH & &I 32T &-

(A) Distortion of facts (F) TIT B drsal

(B) Scientific persuasion (@) d=fae T T41em

(C) Personality promotion (3T) TITHITT UlcHTRA

(D) Discourage competition (&) UfaTudl &I gdlcdIfed HLAT

7. Gatefold can be mostly seenin
NChies FAGIAR Dl @l SIdTl §.....
(A) Magazines (37) gfFere
(B) Newspapers (d) AR U

(C) Books (H) Q&b
(D) Posters () N Eed

8. Central to the uses and gratification approach in communication would be __

AR A g 35U vd ARk 3o o gaer fhar ST §....
(A) Messages  (3T) TRT

(B) Channels (d) Jded

(C) Audiences (¥H)SHHE

(D) Encoders  (&)TCRIGIT



9. The Vidyalankar Committee was assigned to prepare a report on

TR FAST @ afsd frar =3 o RUiE ¢ & fw.....
(A) Press information bureau (317) U3 T PRTTT

(B) Functioning of AIR (&) 3meprRrEam fr FRIfaf
(C) Central publicity (H) T TR
(D) Information and (€) a1 ud

broadcasting ministry TOROT AT

10. In communication redundancy has
IR H AP &l fhaar gaigaAT aHa -
(A) Highest predictability (37) 3Tddd liqclgddld

(B) Lowest predictability (&) =gAdH liqclgd-lld

(C) Balanced predictability (¥) {-igl?ﬂd liqigddld

(D) Imperfect predictability () 37T T-ﬁaﬂ'lﬁ

11. Section 95 of the Criminal Procedure Code permits a State
Government the forfeiture of

e NIReoR @15 & JFaa-95 & T WHR A HYFR §-
(A) Offending publication () I UehIRIA Pl Uehell

(B) Security deposit (@) gram e

(C) Printing press (@) fiféer o=

(D) Journalistic accreditation (&) TFRRIT UcIrad

12. The process school of communication leanson____
WA Tl HTH HYfAbAA BT SJhd -
(A) Linguistics (31) 9T T
(B) Applied arts (&) grAIfAes Py
(C) Semiotics (@) dEfeay
(D) Social sciences () ATATGIG fa<ra
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13. The legal doctrine of direct impact is applied in the cases involving
limitation of

e wam Rigia AT & AR fed RwE & g der &
g piad & dART & ded HTH BT §-

(A) Personal freedom (37) cafhard TadAT

(B) Newspaper circulation () FAR gF &I faagor

(C) Editorial independence (H) gureer &1 TadId

(D) Taxation on advertisements (&) IO W &

14. ‘Enlightened self-interest’ is the notion behind

Thalcd &I BT ST P I URUT & YIS -

(A) Risk management (F) WA gaaa

(B) Event management (@) gear gaud

(C) Corporate social responsibility (37)PRURE TTATTSIH [STFASRT
(D) Publicity campaigns (F) TR eI

15. Who is appointed the governor of Rajasthan on 12th may 2012?
12 73,2012 & fH8 TEAUE &1 Asgurel g fopar |

(A) PrabhaSingh (37) ufdsr s
(B) ArunaRoy (e) &M I
(C) Margret Alwa () #FRElE 3rear
(D) ShivrajSingh () TR e

16 Who is empowered to declare National Emergency?

TERT YIRS T BT HAFR H o -
(A) Prime Minister of India (37) HRd & GUTHHAT

(B) President of India () HRA & Ugufa
(C) Governors of State (F@) TSIT & TSIUTA
(D) Parliament (c) ¥9g

5



17.

18.

19.

20.

Winner of the world Chess Championship 2012 is?
T 2012 & [y aaisr AT & fasiar sia &2

(A) Garry Casparov (37) I FrEERE
(B) Novok Djokovic () Aded SAhldd
(C)Boris Gelfand () aIRT Prows

(D) Vishvanathan Anand (&) TI#ETaS 31Tdq

Census in India is conducted after every year —

R A FAI0TAT fhdar ATl & By §-

(A) 10 years (37) 10 auf &
(B) 20 years (F) 20 guf &
(C) 5years () 5 aut &
(D) 15 years (€) 15 auf &

Who is the author of book ‘kargil From Surprise to Victory’?
‘BRI HH TS ¢ TAFEY GETD Pl oAW@P Bl &2
(A)General V.P. Malic (37) STeRe dY.dr.afees

(B) General V.K. Singh () TR dr.b. e

(C) General 1.J. Singh () SRa SoRE

(D) None of Above (@) 397 | PIS T

Mr. P. V. Narashima Rao is the Prime Minister of India.

A drdy REWT AR &....... TS |
(A) Seventh  (37) HIad

(B) Fifth (@) grd

(C) Sixth ) &6

(D) Ninth ) ad




21.

Recently, which TDP leader died in road accident?

TIIGRH UTET & fohe Aar T gl H & Geh gHedt & Fcg @ I -

22.

23.

24,

(A) Chandrababu Naidu  (37) TgdTq ATIg
(B) Yerran Naidu () WA a5
(C) Bangaru Laxman () TIME A&HOT

(D) None of Above (€) 313 & PIS o AL

Find the next letter for the seriesY V S P.........?
as dr vg @ & dIG Pl AT qeq AT ?

(A) N (31) T
B M (@) TH
(o (&) 3
DL @ Ta

Who is the author of the book 'Glimpses of World History' ?
feAdst 3Th des REY & o@d did &2

(A) Abdul Kalam Azad (31 37eqel helld 3TSllq

(B) Jawaharlal Nehru () AR Tl Aew

(C) S Gopalan (H) TH MUt

(D) S Radhakrishnan (€) TE TUTPH™UTT

In which year was the Nobel Prize for Economics announced for the first
time?

forer af & ugell aR el el A A REBR @ FIT AR
(A) 1919  (31) 1919

(B) 1969 (<) 1969

(c) 1970 (&) 1970

(D) 1974 () 1974



25. Video-Conferencing can be classified as one of the following types of
communication ?

(A) Visual one way (37) T dXHT T TOR

(B) Audio-Visual one way () UhcRWI TRI-HcT TAR
(C) Audio-Visual two way (&) GeRWI TRI-HcT HAR
(D) Visual two way (@) gD I AR

26. Adieis tossed once. What is the probability of getting an odd number?
TEh 3 Y g IR 3T W A FEw F frda R 3 d A §-
(A) 1/3 ()1/3
(B) » (@) 1/2
@1 (M1
(D) % (e1)3/4

27. A is a computer connected to two networks?

& eaH W G G F B ........ T E
(A) Gateway (37) de-a

(B) Link CIRGED

(C) Server (1) IR

(D) Bridgeway (g) forord

28. Which Indian Scientist has had the distinction of receiving not only the
Nobel Prize but also Bharat Ratna ?

e R difas @ Alde QTEPR 3R 9RA a7 §-
(A) Dr Homi Bhabha  (37) 3. &l STeEiR HT8T

(B) Dr.J.CBose (@) 1. o & 9

(C) Dr.C.V Raman @) 1. O &Y A

(D) Dr. Vikram Sarabhai (&) 3T. fasha IRIHTS
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29. Wi-Fi technology refers to?
qTS-BIS dheilch FIT ddellal &
(A) wireless LAN connections
(31) IR oled el
(B) wires connecting a computer to the Internet
(T)FeTAC § PP & 3@ AR & gRI
(C) adrive on a laptop that connects to the Internet
(F) oueg fr WS Ir3ad AT ST B SABdl Bl
(D) The bandwidth of the server to which a laptop connects

(@) R & arpa fFE8 Uy ST &

30. The author of 'Business @ Speed of Thought’?
e @ Tfis A% U & AWH Dl ©-
(A) Dick Fransis (37) 3 wifda
(B) John Gray () ST I
(C) BillGates (&) TaeT dicH
(D) David Baldexi (&) 375 aTclsardl

31. Nehru Literacy Award was instituted by?
ae& AT g foraa wfua e &
(A) The government of India
(37) HRT WHR
(B)The government of Uttar Pradesh
() 39 PR
(C) The India Audit Education Association
(¥) ¥R EIBR &1 IMMSC Tageheldd TATATHA
(D) The Indian Artists Guild

(€) sf3ua anfere s



32.

33.

34.

35.

Who is called the Father of English Poetry?
37T BfAAT B TP B &2

(A) Charles Dickens  (37) TTed f3aheT

(B) Milton @) fAeea
(C) Wordsworth =) a:ércraiq
(D) Chaucer () IR

Who among the following wrote the poem ‘Subh - e - Azadi ‘?
ot TG AT HT o@D Dl &2

(A) Sahir Ludhiyanvi (31) IO Q@TI'IFIEﬁ

(B) Faiz Ahmed Faiz (&) a1 3G et

(€) Muhammad Igbal (H) FAEFAC ShdTel

(D) Maulana Abul Kalam Azad (&) #telTeT 3egel helld TS

Who is the inventor of printing press?
féar 07 @& AfAERs Bia &2
(A) Johann Gutenberg (37) ST W‘f
(B) William Lee (1) Raforags &
(C) George Eastman () SToT s¥cde
(D) R.W.Thomson (T) 3R.Zecl . ATHAA

In CSMA, the vulnerable period is equal to 2

HoaTAT fRIH Hra fhad TAT ©-

(A) 1 frame transmission time (37) dd iz m‘\’l?r CISH
(B) one-way propagation time (9) dd-d UM CISH
(C) 2 frame transmission times () - e AT TS
(D) round-trip propagation time () {38 f¢U UM T8
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36. Synonym for Antiseptic ?

TerRIfted a1 ATt 8-
(A) Poisonous (37) UT@siaad
(B) Filter (@) frecx
(C) Germ Killing (&) STAfhfoar
(D) Septic (¢) oEcaftesd

37. 'Na khatam hone vali kahani' is the autobiography of ?

‘T Wcd Bl dTell dheler fohadhr Shiaer -

(A) T N Sheshan (37) & Aua

(B) Amitabh Bachchan (&) 3TRdTH d<ad
(C) Sonia Gandhi (@) aifaar e
(D) V.P Singh (@) 9rdr e

38. Who is believed to be the father of Virology, i.e study of viruses and the
disease caused by them?

fawmop faea & S dia €, e [wmo) 3R sadhr et &
®RUT g fAga  gam|

(A) Beljernick (37) doloRTaAd

(B) Andre lwolf (&) 31T, SdTed

(C) Louis Pasteur (&) Fﬁ UraR

(D) William Harvey () Taferaer &d

39. Who among the following has not been awarded with the ' Bharat Ratna ?
T @ R 9Ra I a8 e -
(A) Mrs Indira Gandhi (3T) #a7dT gfexr amefr
(B) Dr. Radhakrishnan (&) 3I. {UTHOUTA
(C) Sanjay Gandhi (&) Torg e
(D) Sardar Patel () TER T
11



40.

41.

42,

43,

A coin is tossed once. Find the probability of getting a head ?

Ue U7 T IR 3OTe W 3 30 B A FAT Bl

(A) % (31) 1/2
(B) 3/2 () 3/2
(C) % (") 3/4

(D) None of above G EGCICIER e

Name the famous German physician who propounded the theory that
"like cures like"?

fopg ST IASPRP F THT B AT Sh HWT (ATRAT &
ey #) & AT &

(A) Frank Mores (31) %ep AT

(B) Karl Landsteiner (F) Prl olFTeR
(C) Samuel Hahnemann =) '9}1343[ e
(D) None of above @) DS A FE

Who invented Zero?

eI P AP fhaad T

(A) Aristotle (31) 3T

(B) Bhaskara (T) ATER

(C) varahamihira (I) dRT&E@ATRR
(D) None of above () PIS 8T A&

4,7,11, 18, 29, 47, ...... 123,199 ?
(A) 76
(B) 70
(C) 84
(D) 95

12



44. Who among the following translated the Autobiography of Madam Curie
in Hindi?
e FgQ B haeh BT R AT Rear ¥
(A) Atal Bihari Vajpayee (37) 3TCATIERT areTay
(B) Lal Bahadur Shastri () GICERI ATET
(C) Choudary Charan Singh (&) ey =oT %
(D) Gobind Vallabh Pant () Mfdg et Ud

45, All India Radio (A.l.R.) for broadcasting was named in the year ?

3l 3f3ar AUSA i YEIT Ha g4

A. 1926
B. 1936
C. 1946
D. 1956

46. Digitization is Compulsory in Four Metros in India from?
Bfafeeetor IRa IR ARl & ey &g fFar a=-

(A) 1st November 2012
(B) 30th October 2012
(C) 30th November 2012
(D) 31st December 2012

47. The winner of French open mixed Double title 2012 is ?

2012 & b9 3 fATAT gorer & fasiar i 82
(A) Sania Mirza- Leander Pes (371) Tfawr f&@er- foust o9

(B) Sania Mirza — Bhupati (&) arfaar &=- safa
(C) Leander Pes—Sayna nehwal (&) foUsX Ug- T dgdrd
(D) Bhupati - Leander Pes (@) sufa- fousy 9w

13



48. Ratio of women to men in India according to 1991 census was .
1991 T SATTAT & AR AR # T8l AR G&UT &1 HUraT ar Ur?
(A) 0.927
(B) 0.942
(c) 0.929
(D) 0.936

49. When were Nobel Prizes instituted?
Aldel Q&R o TUTAA fehar Iram?
(A) 1901
(B) 1905
(C) 1964
(D) 1965

50. Who propounded the Quantum Theory?
FareH Rgid & 3fawhRe Ha
(A) Albert Einstein (31) 3Tedc IMBEA
(B) James C. Maxwell () SIFH T AFgd
(C) Heisenberg () tga9dt
(D) Max Planck (€) FFT olp

51. The term ‘DAVP’ stands for?
Srudidy &Y T AdTT FAT T2
(A) Directorate of Advertising & Vocal Publicity
(B)Division of Audio-Visual Publicity
(c) Department of Audio-Visual Publicity
(D) Directorate of Advertising & Visual Publicity

14



52.

53.

54.

55.

The first Indian to win the Nobel Prize was?
UEell HRAT el QEPR fasiar Bl am
(A) C.VRaman (37) €T A

(B) Rabindranath Tagore (&) TGt SR
(C) Hargovind Khurana (&) gR&NTde T
(D) Amartya Sen (€) 33T aa

A die is thrown thrice. Then the total number of cases will be?
T 8 A T aR 30Tela W e HasT u1g &l

(A) 3

(B) 6

(€) 8

(D) 216

Main Standing Committee of Lok Sabha is

ARgAT H TAS FlATT &-

A) Committee on Public Accounts  (37) ollepfdd & fow

(B) Estimates Committee () 3ol TR

(C) Committee on Public Undertaking (&) Ufeeleh 3183¢ThaT LT
(D) All the Above (€) 3Wp Tl & forw
Famous 'Oscar Awards' are presented by the?

Uflg 3MERT QIEPR Pl UG T &?

a. World Film Society ~ (37) dcs fhedt @rEmIE

b. Academy of motion pictures, arts and science () HpIGHT ITH
A oy 3¢ Us @sy
American Film Society (&) 3AR®a fhed @EMET

d. American Motion picture association (¢) IARNPT AR =R
AU

15



56. Synonym for Sardonic ?
TeId BT qATAT §-

a. Cynical
b. Pessimist
c. Optimist
d. Atheist

57. Which is the number that comes next in the following sequence 2, 6, 12,
20, 30,42, 56, ?

A. 60
B. 64
C. 72
D. 70

58.The first chairman of the Constituent Assembly was....

Afaura @1 & Ugel 3eTeT Hia A2

(A) B R Ambedkar (37) AR A

(B) Dr. Sachidanand Sinha () 1. afeacee e
(C) Dr. Rajendra Prasad (H) 313051 UG

(D) B N Rao (g) dva @

59. ‘THE GREAT INDIAN NOVEL’ was written by...
T I 3BT AT b JdGP ©-
(A) Shobha De (B) Vikram Seth (C) Shashi Tharoor (D) Satyajit Ray
(31) MAT S (&) TIhA T (F) AN YW (§) FIaid T

60. The is called ‘THE LIGHT HOUSE OF DEMOCRACY’.
ANPdT BT B TSH Dl AT o-
(A) Press (B) Radio (C) Television (D) Cinema
(31) UE @) A (F) celifas= (g) Faar
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61. was the first state whose Government passed the ‘THE RIGHT TO
INFORMATION ACT’

AT &1 IRAPR el fhd 5T 2 Fauya o fmam
(A) Rajasthan (B) Karnataka (C) Goa (D) Maharashtra
(37) TS (F) Pelled (F) MAT (§) ATRIE

62. First double century was scored by cricketer ....
(A) Virender Sehwag (B) Sachin Tendular (C) Sunil Gavaskar (D) Vijay Hazare

Ugell el e fohd sl a aarar-
(37) T FgamT (F) AR Ao (F) Feltel maemt (3) s ge

63. Hussain Ali and Abdullah were together called the
gid 3Tl 3R 3fegeel TH T  Heelld &
(A) Sultanate brothers (B) Sayyid brothers (C) Lodhi brothers (D) none of these

(37) Todad AE (J) ATTE 1S (@) D 18 () 394 & IS

64. The last Governor General of India was....

ARG & A TTR IR -

(A) Chittranjan Das (37) R g

(B) Chakravarti Rajagopalachari (@) Tehddl JSTINUTT IRT
(€) Dadabhai Naoroji (") arer 1S ARTeh

(D) Jayaprakash Narayan () STIURIA ARTICT

65. The Excel is the biggest interface change from previous versions.
TFaA fUse FEul & a8 I3 $hd TRad ©.
(A) version (B) worksheet (C) 2007 (D) ribbon
(37) ToIe @) anefic @) 2007  (B) Na=

66. There are number of newspapers and periodicals published in India.
ARA & ghIIT TR gat 3R gt i g ®.
(A) 40,000 (B) 45,000 (C) 44,000 (D) 50,000
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67. Google is a common name for a number with...
(A) million zeros (B) two million zeros (C) two zeros (D) none of these

TP ATH & T FE&4qT B TS -
) 31 (T o YT Bl )a (S oW T @
@) = & )& (38 | PIS

68. Indian national Congress was founded by

HRAT T wrag Hr FAaar dr -
(A) Allan Octavian Hume  (37) Tdld 3a@eriaasd &
(B) Jean Henri Dunant () AT T

(C) Mahatma Gandhi (H) FRICAT My
(D) none of these (@) 3H PIS G
69. is titled as ‘UPANYAS SAMRAT’.

(A) Mirza Ghalib (B) Premchand (C) Sumitranandan Pant (D) Mahadevi Verma
3UATE FHC b8 el ST &

(37) &St wfee (@) 9FdE (F) AT Ud () HeedT gA

70. Premchand’s original name was....
OIS PT arEdideh ATHT AT-

(A) Dhanpat Rai Srivastava (37) ¥aua T Aareda
(B) Kailash Srivastava () FeTRr Hareda

(C) Prem Srivastava () 9 Hareag

(D) Chandra Srivastava (€) Ig Hareda

18



71. Nobel Prize was founded by....

Aldel QUEPR P T feha-

(A) Elizabeth H. Blackburn (37) TSy T colhaed

(B) Royal Swedish Academy of Sciences (&) Il TEafser ThsHl 3% QTI???
(C) Norwegian Parliament () IS gae

(D) A. Bernhard Nobel (€) T.dr. A

72. Winchester Cup is given for...
(A) Rowing (B) Badminton (C)Polo (D) none of these

feeex Trhr &1 ST §-
(37) AfdTT (@) dsfdiea (@) T (@) B FE&

73. The first Peshwa or Prime minister in the Indian history was....

Ueell QeraT 37aT GUTAIHA AR Sfderd # Pl oa1--
(A) Baji Rao First (37) IR 9AHA

(B) Balaji Baji Rao CIEICICIRCISIEE)

(€) Balaji Vishwanath (I) dTermstt ATy

(D) Ahmed Shah Abdali  (&)31&dG QMG 3MeaTell

74. The oldest form of advertising is the....

fa<iTue &1 Gad U TIwU B

(A) Street Cry (37) ST

(B) Newspaper Advertising () THAMER fa<maa
(C) Poster Advertising (@) X fasmaa
(D) Verbal Advertising (g) FifEs U=
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75. is an interpreter which means that it reads every line.

........... Teh QAT U & S & Y@M Bl UadT &-
(A) QBASIC (B) GWBASIC (C) BASIC (D) none of these

76. A hierarchical system of orders flow down from the minister to the
secretary and to other officials concerned is called....
(A) Autocracy (B) Bureaucracy (C) Aristocracy (D) Democracy
WOUTGg dF TG YU &1 Jae 3R F A afdg § Fge &R
dd el Bl FT dhedl|

(37) Tohel dF (F) SRIRET () IRFCHRAT () dlepd T

77. Formation of Strategic Forces Command and Nuclear Command Authority
of India took place in....

TS B TS IR YR HeArs HATRE dr TATAT ha g
(A) 2004 (B) 2002 (c) 2005 (D) 2003

78. ‘TALES OF BEADLE THE BARD’ was written by....
(A) Charles Dickens (B) J.K. Rowling (C) Jane Austen (D) James Joyce
Tel AH disel g A fhee fordd &

(31) T B (@) F & Al @) I 3ea (€) =g I

79. Democracy originated in....
AT T YEITT Pel F g4l-
(A) Athens (B) France (c) India (D) America
(31) vdH (@) wiE @) s (@) A

80. Name the cricketer who scored 100 International Centuries.
(A) Sunil Gavaskar (B) Virender Sehwag (C) Sachin Tendulkar (D) Vijay Hazare
38 fohcheX &l ATH ddiv fS8r 100 AdHh I4TU &-

(31) gelrel g (d) falg Feamr (@) R dgerar (€) e &R
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81.

82.

83.

84.

is a religious system of government where religious leaders hold
power.
(A) Theocracy (B) Monarchy (C) Dictatorship (D) Autocracy

VE! AR Tl TS 9dT qHAT T & 39 FIT Bl Sl -
(31) Rk (d) T Tk PT AFA (F) ATARME (&) TSIhaET

Two forms of Democratic Government are....

AlhdITIc EIPRT &b & UhR Hid F &

(A) Unitary and Federal (37) ThrcH 3R Held

(B) Absolute and Constitutional (<) qqu‘r IR gdurfas e
(C) Dictatorial and Direct () drERME Td dhigd

(D) None of these @) DS A FE

Which model is used by Internet applications?

Teedc UTRIhld A Pl AT ASA STAAT BT ©-
(A) Login

(B) Distributed server

(C) Digital server

(D) Client/server

The autobiography 'Living History' has been authored by ?

fafder RES A Shaah &1 J@d BT &-
(A) Margaret Atwood (31) AR Ucds
(B) Benazir Bhutoo () ISR Heer
(C) Hillary Clinton (F) el e
(D) Monica Lewinsky (g) AT Afdwhr
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85. The first Indian to win the Nobel Prize was?

86.

87.

Uedll AR o8 Aol QU&pR e a1

(A) C.VvRaman (31) &Y A

(B) Rabindranath Tagore (&) I{dig AT SR
(C) Hargovind Khurana (@) TRefde T
(D) Amartya Sen (€) IFT a

National Film Awards were instituted in the year?
TE fhedt REPRT AT TAUAT ha g2~

(A) 1950

(B) 1954

(C) 1961

(D) 1969

Complete the series 3, 128, 6, 64, 9, ...... ,12,16,15,87?
(A) 32

(B) 12

(C) 108

(D) 72

88. Complete the series 2, 6, 12, 20, ...... ,42,56,72,907?

(A) 20
(B) 21
(C) 30
(D) 12

89. Synonym for Sadistic?

(A) Love

(B) Aesthetics

(C) Defiance

(D) Love of inflicting pain
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90. The Chief Justice and Other Judges of the Supreme court of India are
appointed by

A PIE S AL RN 3R 317 =it @ i gD

LT &-

(A) Prime Minister of India IR LIGEE

(B) The Governor of the concerning State (8) AT & JSIUTA

(c) The C.M of the concerned State (F) Gafad Tsat &
AT

(D) President of India (§) ¥R & Tgufa

91. The Hamming distance between 100 and 001is ____ .?
(A) 0
(B) 1
(€) 2
(D) 3

92. A simple parity-check code can correct errors?
(A) An even-number of (B) Two
(C) No Error (D) an odd-number of

93. In cyclic redundancy checking, what is the CRC?
(A) The divisor
(B) The quotient
(C) The dividend
(D) The remainder

94. In case of Go-Back-N ARQ protocol, for 10 data packets sent,
acknowledgments may be received. ?
(A) 1
(B) 5
(C) Exactly 10
(D) All of above
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95.

96.

97.

98.

99.

Synonym for Presbyopia ?
(A) Short sighted

(B) Night blind

(C) Farsighted

(D) Colour blind

Synonym for Spasmodic?
(A) Greedy

(B) Parsimonious

(C) Convulsive

(D) Eclipse

Synonym for Toxic ?
(A) Queer

(B) Genius

(C) Normal

(D) Sane

Synonym for Eccentric?
(A) Healty

(B) Pure

(C) Refines

(D) Poisonous

Full statehood was coffered to Arunachal Pradesh by the ---------
Amendment of the constitution

Gfaue & g FATUS & 916 IFFOTTA UG B qOT AT HT AT
frem?

(A) Fifth-Fifth (371) 55 O
(B) Sixtieth () 60 T
(c) Forty-Fourth (H) 44 @
(D) Sixth-Fifth (€) 65 O

24



100. In India the Governor of the states are appointed by 147

HRT & Tsaurel i fAgd i B-

(A) The Prime Minister (37) UTTHAT
(B) The Parliament () H§HS

(c) The Chief Ministers () FEgH
(D) The President @) TI'E'CI'%

101. How many Schedules are contained in the Constitution of India
AR & FRAUE F fhdar sgese §-
(A) 12 schedules
(B) 20 schedules

(C) 10 schedules
(D) 25 schedules?

102. Phrase-All and Sundry?
(A) Everybody without distinction
(B) Only rich person
(C) Together
(D) Selected people

103. Phrase- At arm's length?
(A) Length of arm (B) At adistance  (C) Insult (D) Very near

104. Phrase- At daggers drawn?
(A) Real cause (B) To be puzzled (C) Atenmity (D) at friendship

105. Phrase- Bag and baggage?
A. All the clothing
B. Without any belonging
C. Leave
D. W.ith all one's belongings

106. Phrase- Bed of roses?
(A) Very soft bed (B) dulllife (C) Belong to (D) full of joys
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107. The opening ceremony of the 2012 summer Olympics is on ?
AeH 3TelUeh-2012 Hr IR foha fereh r g3m|
(A) July 27,2012
(B) June 27,2012
(C) Aug 27,2012
(D) July 17,2012

108. The Word Hitachi is combination of "Hi" and "Techi " ....... The meaning
of these two words is ?

e fecd=r fehet oY eual o1 fAHOT &-

(A) Sun and Rise (31) Héf 3R 31
(B) Moon and Sun @) T IR I
(C) Flying and Eagle (&) 331 3R 9=

(D) High and Mountain (€) a5 3R ueE

109. A coin is tossed twice. What is the probability that the head occurs at
least once?
(A) 4/4
(B) 2/4
(c) 3/4
(D)o

110. A Coin is tossed twice. Find the probability that the head occurs at most
once ?
(A) 3/4
(B) 1/4
(C) 2/4
(D) None

111. Let E and F are two events. P(E) = 0.2, What is P(F) ?
(A) can't be findable
(B) 1
(C) 2
(D) 0.8
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112. A simple parity-check code can correct errors ?
(A) An even-number of (B) Two
(C) No Error (D) an odd-number of

113. In cyclic redundancy checking, what is the CRC?
(A) The divisor
(B) The quotient
(C) The dividend
(D) The remainder

114. In case of Go-Back-N ARQ protocol, for 10 data packets sent,
acknowledgments may be received. ?
(A) 1
(B) 5
(C) Exactly 10
(D) All of above

115. in the method, after the station finds the line idle it sends or
refrains from sending based on the outcome of a random number
generator. If the line is busy, it tries again. ?

(A) non-persistent

(B) 1-persistent

(C) p-persistent

(D) none of the above

116. Film and Television Institute of India is located in

(A) Bhopal (37) HIuTed
(B) Raipur () QY
(C) Delhi (&) fewell
(D) Pune (&) 9Ot
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117. ‘36T’ AsG, &1 fdaldH ©-
(A) 31&d (CRGERGI
(C) 3&T (D) TARHR

118. “314TeT IO Doldhd STT” &l 7Y §-

(A) 3T IR W Seldhal

(B) AT I W HHATT BT
(€ TS L 30T

(D) & & S

119. “Th UY & dra” &7 7T g-
(A) Th T H 1 HIHA & AT
(B) U 3UTT & &I hIH e
(C) & dRE q TH HIHA BT
(D) Th FHI H &I BIH AT

120. “g} IRT AT F A FIT -
(A) O IRE T
(B) STH & TH
(©) e & erfar &=
(D) 39 & AIg A

121. FILL UP THE BLANKS WITH SUITABLE WORDS- He has great affection.....
His grand children?
(A) to
(B) after
(C) for
(D) with

28



122. FILL UP THE BLANKS WITH SUITABLE WORDS- The officer should deal
...... equal justice to all subordinates?
(A) out
(B) of
(C) on
(D) in

123. FILL UP THE BLANKS WITH SUITABLE WORDS- Rita keep back nothing
....... her friends ?

(A) of

(B) in

(C) from

(D) of

124. FILL UP THE BLANKS WITH SUITABLE WORDS- He has been acquitted ......
the change of murder?
(A) to
(B) with
(C) from
(D) of

125. FILL UP THE BLANKS WITH SUITABLE WORDS- He should be alive ...... the
consequences of his wrong doings?
(A) for
(B) to
(C) of
(D) with

126. FILL UP THE BLANKS WITH SUITABLE WORDS- The peon will answer....
his misbehaviour to the manager?
(A) for
(B) on
(C) with
(D) upon
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127. FILL UP THE BLANKS WITH SUITABLE WORDS- Everybody is answerable
.... God for his sins?
(A) for
(B) with
(C) to
(D) on

128. FILL UP THE BLANKS WITH SUITABLE WORDS- She has set .... as a layer?
(A) in
(B) on
(C) out
(D) up

129. FILL UP THE BLANKS WITH SUITABLE WORDS- The servant is attending....
him?
(A) on
(B) with
(C) for
(D) upon

130. FILL UP THE BLANKS WITH SUITABLE WORDS- Deepak was addicted .....
drinking ?
(A) on
(B) for
(C) to
(D) with

131. FILL UP THE BLANKS WITH SUITABLE WORDS- There is no use ........ going
there at this time.
(A) at
(B) in
(C) on
(D) of
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132. FILL UP THE BLANKS WITH SUITABLE WORDS- He complains .......
headache.

(A) of

(B) off

(C) from

(D) about

133. FILL UP THE BLANKS WITH SUITABLE WORDS- They went to Agra
(A) of
(B) in
(C) by
(D) from

134. FILL UP THE BLANKS WITH SUITABLE WORDS- | am writing this
€ssay....... blue ink.

(A) In

(B) with

(C) from

(D) on

135. FILL UP THE BLANKS WITH SUITABLE WORDS- She has three
children......her first husband.
(A) of
(B) in
(C) by
(D) from

136. FILL UP THE BLANKS WITH SUITABLE WORDS- He congratulated
you......your promotion.
(A) in
(B) on
(C) of
(D) for
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137. FILL UP THE BLANKS WITH SUITABLE WORDS- | met Anita...... the way to
my office.

(A) in

(B) on

(C) upon

(D) with

138.FILL UP THE BLANKS WITH SUITABLE WORDS- She jumped...... the river.
(A) on
(B) in
(C) into
(D) to

139. FILL UP THE BLANKS WITH SUITABLE WORDS- The jug is fill.....milk. 120
(A) of
(B) with
(C) in
(D) upon

140. FILL UP THE BLANKS WITH SUITABLE WORDS- My wife is good.......
French. 121
(A) in
(B) on
(C) with
(D) at

141. Who is the inventor of railway engine?
{Od $oTed Pl HTATHRED Bl &
(A) George Stephenson (37) STol TErhdeT

(B) W.H.F. Talbot (d) 3 UI.UH Creldic
(C) Richard Trevithik (@) R=iz Bfafd®
(D) Eli Whitney () off e
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142. Who is believed to be the father of Virology, i.e study of viruses and the
disease caused by them?

ARRIATS (ARRE &7 faAT) & S Pl &
(A) Beljernick (31) s

(B) Andrelwolf  (d) 31g Sdled

(C) Louis Pasteur (H) rgé‘&r U

(D) William Harvey (&) Taforger &d

143. Who invented the safety match?

a1 el &1 AfasheR fohaar forar a1-
(A) Humphrey Davy  (37) &0 sdY

(B) Gillette (@) TSrele

(C) Landstorm () oisrerd

(D) R.W. Thomson () 3R Seo HTA

144. Who among the following was propounded the theory that hysteria
represented undercharged emotional energy?

Tgonl RECRAT &1 R{Ed (aRTars sAREd Tdasi) & FawhR
e fepam 2l

(A) William Harvey (37)Rforaar grd

(B) Edward Jenner (&) TSds FeX

(C) sigmund Freud (&) f&9As WU

(D) Johann Baeyer () ST S=¥X
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145. Who is the inventor of printing press?

Aféar 97 #1 faver fraa forar or-
(A) Johann Gutenberg (3T) ST Z'JE?RI'«"[

(B) William Lee (@) Rfos &
(C) George Eastman () o7 STeda
(D) R.W. Thomson (€) 3R seo UTHISA

146. Who was the founder of modern atomic theory?

IYfAS TeHAT FAGid &1 Wisthd! Bl -

(A) John Dalton (37) AT STocd
(B) James Ritty (@) g R

(C) Ernest Walton () AT dleed
(D) None of above @) S A &

147. Which one of the following was the correct sequence in decreasing order of
the population size of the given cities as per the 1991 census?

1991 P FAINUTAT F HJAR AFTEIT & F&f # ORd oA A
P AT A Tel &

(A) Calcutta, Bombay, Delhi, Madras

(B) Bombay, Calcutta, Delhi, Madras

(c) Bombay, Calcutta, Madras, Delhi
(D) Calcutta, Bombay, Madras, Delhi

148. Which of the following was the second most literate state according to

1991 Census ?

1991 &1 FAIOTAT &b IFFIAR Dl T TSU FI@ 3w RfaTT 2
(A) Karnataka (31) Pt

(B) Mizoram @) e

(c) Kerala F) I

(D) West Bengal (€) Ut Jamel
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149. Myanmar is a new name of
AR foraer a1 a6 §-

(A) Burma
(B) Thailand
(C) Vietham
(D) Malaysia

(31) g

@) UrSels
@) fagaas
&) FATRAAT

150. The census began in India in

HRT H STTI0TAT hd TRHA g

(A) 1871
(C) 1861

() 1921
(D) 1901

149. According to the Census of 1991, which state had the highest per capita

income?

1991 & A0 F FFER fpe g & ufdeafs 3 wad

3fF %I

(A) Maharashtra
(B) Delhi

(C) Punjab

(D) Haryana

(37) HASNTE
@) el
CGIEEIE]

@) sRmon

150. NASA launched rover, nicknamed curiosity to explore the planet Mars. The rover
was launched from which one of the following province of USA?

IR S o6 amr a8 J9a 7 & fow gaifta fear ar ag foea

ue § ol
(A) Texas
(B) Florida
(C) california
(D) New York

(37) <T@
() FaIRET
(F) Pdifaar

@) =gaH
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